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2.5

5.0
model

0 1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 1225, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.00.10.2

Fiber 415, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.05

Fiber 4911, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 4644, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2

Fiber 624, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.0

Fiber 4687, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2

Fiber 2516, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.00.10.2

Fiber 2914, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.50.00.51.01.52.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.50.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 1322, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.0 1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.05

Fiber 4235, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2653, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.000.250.500.751.001.251.501.75

Fiber 4495, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.20.40.60.81.01.21.4

Fiber 4022, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.50.6

Fiber 2198, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.50.00.51.01.52.02.53.0

Fiber 2741, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0 0.5 1.0 1.5 2.0

Fiber 1376, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0 0.5 1.0 1.5 2.0

Fiber 2563, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.020.000.020.040.060.080.100.12

Fiber 1057, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.10

Fiber 4048, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.100.15

Fiber 4838, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.00.1

Fiber 1031, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 2720, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

3.83.63.43.23.02.82.6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

4.03.83.63.43.23.02.82.62.4

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.10

Fiber 4126, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.050.000.050.100.150.20

Fiber 4968, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 4552, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.5

Fiber 2739, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.41.21.00.80.60.40.20.0

Fiber 2045, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.751.501.251.000.750.500.250.00

Fiber 2684, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.05

Fiber 2777, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.10

Fiber 2010, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 4642, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2 0.4

Fiber 581, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 689, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.21.00.80.60.40.20.00.2

Fiber 1452, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.53.0

Fiber 4702, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.05

Fiber 4719, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 872, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 735, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.00.10.2

Fiber 582, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

4.54.03.53.02.52.01.51.00.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

4.54.03.53.02.52.01.51.00.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.050.000.050.100.15

Fiber 2560, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.10.0 0.1

Fiber 4238, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.70.60.50.40.30.20.10.00.1

Fiber 4125, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0250.0000.0250.0500.0750.1000.1250.150

Fiber 1009, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 2831, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.40.20.00.20.40.6

Fiber 2265, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.000.050.100.15

Fiber 4574, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4

Fiber 4024, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 2601, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.05

Fiber 832, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.500.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.500.751.001.251.501.752.002.252.50

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.060.040.020.000.020.040.06

Fiber 4949, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 4337, dchi2frac= 1.0


